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PnLnp gqniqunwih / wpunwuwhdwbjwh
33761000 wpuwnpnepjwl / B hwwn 150 150000 1000
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33764000 |UGabnnghy hwdwywngsh GnGhwnph hwdwp < hwtn 300 30000 100
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39221480 |2ntquipwip b wgwnwlh funqulwy FoTa huwn 500 50000 100
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39224330 |muL wiwuwnduiuwihg /7 1/ [T hwwn 600 12000 20
39224330 |yl wiwundwuwihg /10 1/ fore hwtn 850 17000 20
39839200 |angquphwy (uwnly) (T hwtn 140 28000 200
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33661250 TNpnubnn) 1%-14 g8 upyuly 780 78000 100
33661120 |Unpbhin 1%-14; c< upduy 420 42000 100
33661114 [hinnwlpy c< upyuwly 420 105000 250
33691226 |Spunfuinn) 100uq /24 N5 c< winuh 510 51000 100
33661112 | Mpnwjn$n| wuiy. 20d| N5 c< wnup 6875.25| 343762.5 50
33661000 |Uhnuqku 15ug/3u; N5 t< wnuh 5690 170700 30
33661100 Uwnpwyniphnud plighjwin 54; /504q c< upyuwl 2200 110000 50
33661000 _[Yhpnlwht wuy.5.0dq/10u; N10 o< wnuh 25920 129600 5
33661115 | Pnuyhyuwyuiht Uwhtiwy 0.5% 5dq/u) 4d; N5 &< wnuh 5705 285250 50
33661100 | hunhhu 20uq/50) N10 ¢« wnup 3423.75|  102712.5 30
33661100 |4wihyun; 5004q/104; o< upduly 1439 36 71968 50
33661000 |Unnnuul wdy. 4dg 24 N25 t< upyuly 938.4 46920 50
33661113 |(FhnwbUwnw) bwwnppnui 0.5q < 3L 2420 72600 30
33661110 [Pandyninuwit 1004; t< dL. 17100 256500 15
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33661136 |Uwwnipht 2 d/10dq N10 < wnuh 900 63000 70
33630000 |Pd2iwlwt uwhpin 96% 1hinpwtng < hwwn 1200 300000 250
33611240  |Uywnhgwgyws wdniu 0.25gn N10 o< tnuh 34.96 1048.8 30
33671125 |Udppnpun; 0.03N20 c< winuh 370 3700 10
33621740 |Ud|n$h; 10uq N30 c< wnnuh 321 8025 25
33622000 |Unpblwihtp h-n wdw. 0.18% N10 c< wnuh | 1267.987| 101438.96 80
33620000  [Upphwing 100dq N10 t< wnuh 1810 27150 15
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33621000 _|Ulwnytight 200dq 5d; N5 c< tnnuh 4625 277500 60
33621000 |Uywnybighl 80uq 21 N25 c< wnuh 11172 446880 40
33621160 |Udhunywupnuwppent 1-p 5% 2504 c< wnnuh 410 32800 80
33651111 |Udnpuhghiht: 500dq N20 < nnuh 600 24000 40
33651111 |Udnpuhghihti 250dg /$ikopupli unynunwp/ c< nnwhwin | 111,02 55510 500
33651100 |Unigubiinht 3754q N20 t< winuh 3042 91260 30
33651100 _|Unigubuwnhl 6254q N14 (74 wnuwh 1826 18260 10
33622200 |Udwphjwb 10dg N30 < wintth 1500 30000 20
33622200 |Udwphjwl 5dq N30 < wnnuh 1200 36000 30
33660000 |Ujpnighn, 20% wsph Ywiph) c< wnuh 420 4200 10
33620000  |Uphyupnkudnin) 100ug/10u; N5 &< wninh 15000 150000 10
33620000 _|Ujpninpd 20% 50 g c< bl 18000 36000 2
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33660000 |Uuwighti 50% 2d) N10 c< winup 310.57 372684 1200
33660000 |Uughnuhin N60O (S wnuh 9300 139500 15
33611350 |UulnpphUwpent wiy. 5% 5u) N10 (S wnuh 503 251500 500
33621100 [Uuwhpht Yupnhn 300dq N20 o< nnuh 688.8 68880 100
33671000 |US8 n/thnoh 200uq N20 (S wnuf 1705 17050 10
33671000  |U88 n/thnph 100dg N20 o< nnup 1405 14050 10
33671000 |US88 n/h 100dq N20 c< winuh 1340 13400 10
33671000 |US88 n/h 200dq N20 c< winuh 1300 13000 10
33651100  |Ughppnuhght 2501q N6 c< winuh 432 17280 40
33660000 [Uwnwpwpu 25dg N25 o< winuh 950 7600 8
33661151  |Ughlynyhp-Uhph 200dq N20 (S wnuh 384.4 7688 20
33651112 |Udnpuhlwy n/p 156.25uq/54; 1004 t< wnuh 1060 31800 30
33651110 [Unigdbinht n/je 156.25dq/5d) 1004) c< wnuh 2098 104900 50
33611341 [UpJuwntinphd Jhwn.D3 104) c< winuh 685 68500 100
33631281 |Ukpww) n/h 1004 [ ntnwhwwn 92.33 27699 300
33670000 |UyJw Uwphu dwllwljwl 104 t< wnuh 1152 46080 40
33670000 |Uwnpnybuwn whkpngng cL wnuh 4152.96 20764.8 5
33651114 |wkpghiht G upy. 1dju. c< wnuth 80.98 121470 1500
33631210 |Phwwdbinwgnt punip 0.1% 15q c< winuh 816 12240 15
33670000  |Pbpnnnuwy |- 2Us. t< wnnh 3114.72 124588.8 40
33631282 |Phuwnhu hbigiing. Undhy 200dq N14 o< winuh 1715 17150 10
33621720 [Phunujpnini 5dq N30 c< winuh 397.5 31800 80
33613000 |Phuwlnnhy dndhly 10ug N10 c< wnup 527 52700 100
33620000 |Phwpn| 10dgq N30 o< innih 866 25980 30
33620000 |Phupn 5dg N30 c< winuh 397.5 23850 60
33621000 |Pbpjhwnh| wyntu10dq/25ug N30 (< wnuh 186559  111935.4 60
33621000 |Ptpthwphy 10dg N30 t< tnnuh 1098 65880 60
33671000  |Ppnudhtipuhti 8UgN50 (& winuth 145 7250 50
33631281  |Pwiwluwihl pp. Yhoululyh 40q c< winuh 284.24 2842.4 10
33671000 |Ppnufunhuip o). o< wnth 420 12600 30
33650000 il:mzhufq:zl 2:2?Uq/5dl et es YN 480 24000 50
33650000  |Pwlwnphd $npuinb 960uq N10 c< winuh 129 6450 50
33620000  |Plunwubiply 244dq N60 cL wnnup 9400 141000 15
33620000 |Phnnu 2.5dq N28 hwdwndbp Phunwpnin; 2.54q S ninwhwwn 20.51 20510 1000
33620000  [MNnytipinhly 244dq N60 c< wnuh 4140 124200 30
33691138 | Syniynqu40% 5.0 N10 c< wnuh 345 34500 100
33651126 |GhUnwdhght wduy.4% 80uq/24; N10 o< wnuh 605 60500 100
33691138 |Syniynqui10% 1004 c< winuh 426.4 85280 200
33691138 [Fyntynqui10% 2004) c< winuh 468 93600 200
33691138 | Qyniynqu 5% 2504, < winuh 170.4 204480 1200
33691138 | Yyniynqu 5% 500 c< winup 174 348000 2000
33610000 |%hght 0.1q N50 n/h o< nbinwhwn 3.93 3930 1000
33610000 [%hghu 1.5% 30004} S wnuh 1680 8400 5
33610000 |Yhgbipht 1q dndhy < wintth 878.47 26354.1 30




33610000 |Hhgbiphu 2.1q dndhly c< wnuh 878.5 4392.5 5
33650000 | Snnwphtinuht 50dg\d| - 1204 [4S wnup 3277.50| 983277 30
33621000 |<bwunpus) 4004 N5 o< wnu 12819.3 128193 10
33675000 |Yhdtinpn 1% 1.0 N10 o< wnuh | 216,6667| 325000.05 1500
33621600 |hpuwaqny 1% 54 N10 < wninuth 403.2 80640 200
33621380 | Hhgopuhu 0.25uq N40 ol inuh 204 6120 30
33621380 | thqopuht wdw. 0.25dq 14 N10 o< winuh 768 46080 60
33631310 [Yhiyndhiurl 50uq N100 g8 nnuh 1089 16335 15
33691121 | Mkluiphu 150uq N1 S ntnwhwwn | g57 66 6576.6 10
33631310 | Hhlyndblwy wdwy. 75uq 3u N5 o< wnuh 350 175000 500
33661153 | Mhipuwdbpwgn wiy. 4dq/d) 16 N5 c< winuh 310 465000 1500
33630000 r’:]-}];l.qnnuw;.lg 1551 hﬂjszd S ) c< wnuh 10965.85| 54829.25 5
uLu S wuw uwpnd |-
33660000 |jp gsliquqzr:n v o e tnup 522 S 75
33631310 |“njwuiuu 1u; N5 c< wnuh 2400 144000 60
33611000 | Hhudjunahy 304 G wnuh 2768.12 27681.2 10
33631310 |njhpu 2uj N5 c< wn 2160 216000 100
33691100 | Thugniht 0.1g N10 e winuh 420 6300 15
33631310 | Yhlynu dndhl 100udg N10 c< winuh 979 34265 35
33631310 | Yyt dndhly 50dq N10 c< wnuh 865 17300 20
33620000 |thghUnl wuy. 250dq 24) N10 c< winuh 1370 274000 200
33651127 | npuwghlthuh hhnpnpinphn 0.1q. N10 c< wnuh 98.9 19780 200
33641000 | Hnibwuwnnt 10dq N20 o< wnith 3980 398000 100
33620000  |Y¥nlighun 250dg N50 t< wnuh 1944 19440 10
33611170 |“ipnwwybkiphuh h/p 40dq N20 c< winuh 160 6400 40
33611170 | Wnuwybiphth h/p 20dq/d; 24 N10 c< winith 502 75300 150
33620000 | Fnpnunwdht 2500g N1 c< wnuh 4855 48550 10
33620000 | tnwdhU wdw.40dq5u0N5 c< tnnuth 4392.8 43928 10
33622200 | Hhywwnpbin 25dq hwiwpdtip Swyhuint 25uq c< nbnwhww | 134 56 134560 1000
33622200 | Yhjwwnpbitin 6.250q hwdwipdtip Swijhinnt 6.25q c< | ntinwhwn 89.91 134865 1500
33622200 | thwwnpbun 12.5dq hwdwpdbp Swijhunt 12.5uq c< ntnwhwwn | 105 g4 158715 1500
33620000 | Hhtnpuwibipu 500dq c< ntnwhwuwn 84.74 152532 1800
33622000 | Hhpnunb 10dg (o4 ntnwhwwn 41.44 29008 700
33622000 |Yhpnwnnu 20dq &< ntnwhwwn 57.04 39928 700
33610000 | Hnipwjwly op-|y L winih 2220 44400 20
33620000 |2nlwpnhu 30 N28 c< wnuh 4503.15|  45031.5 10
33650000  [2hUdwpu 750dq &< wnnuth 875 35000 40
33631287 | Rhpwntl 10dq hwdwpdtip Uikp-G 10dq (18 nanwhwwn 58.23 8734.5 150
33670000 |Eniphiht 24ug/d) 5.0 N10 < wnnuh 373.333 224000 600
33621520  |Euwjwuyphy -< N20 &< winuh 370 29600 80
33621520 |Euwjwwphy -<L N20 S wnuh 309.02 24721.6 80
33621520 | Euwjwuph; 10dg N20 c< wnuh 105 21000 200
33621520 [EUwqwuyphy 20dq c< ntinwhwn 20.9 41800 2000
33620000 |Euwuw -H 10udq N20 c< wnuh 658 65800 100
33621000 _|Eubughwi $npwnt 300dq N30 c< winuh 2130 85200 40
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33621000 |kbubiughw)t wdw.S5d) tubnibu N5 wnuh 2520 100800 40
33620000 |Eqhiny 50dq c< nbnwhuwn 23.35 37360 1600
33620000 _|Eyjwinnp 10dq+5 dg (7S nbnwhww [ 43668 273360 2000
33620000 |Eyywnnp 20dq +10 dg cL nbnwhuwwn | 20966| 377388 1800
33620000  |Enuhwn Sug N20 hwdwnpdtip Euwjwwnhy S5uq N20 o< wnup 97.5 5850 80
33642230 |Enuphpnpu n/h 50dg N100 c< winup 1150 11500 10
33611341 |(Ghwdhu wdw. 5% 16} N10 &< wintth 177.84 10670.4 60
33642230 |fdhpnqgn| 5dq N50 (78 wnuh 1590 31800 20
33631290 |Ppnuypn$kii 0.2q N10 c< wnh 56.9 569 10
33631290  |Ppnuypndkl 0.4 N30 c< wnuh 617 6170 10
33631290 |Ppmidhl opwipuil 1004 c< wnup 698 6980 10
33691129 |Pnin Skp j-p 5004 c< nnuh 480 24000 50
33630000 | Pugndbwnwght pump cL wnuh 300 6000 20
33622000 |Lhghinwphy 5uq N24 c< wnuh 367 7340 20
33620000 |Lhqhunwphy 10ug N24 c< ntnwhuwwn 23.6 2832 120
33661116  |Lhnnlwjht 2% 2.0N10 &< winuh 251 25100 100
33642230 |L-phpnpuhls 100ug N100 o< wnuh 1362.67|  13626.7 10
33611000 |Lhubipu N16 c< wnuh 768 38400 50
33611000 |Lhubipu $npink N28 c< wnuh 2769 55380 20
33620000  |Lnphuwnw 100dq c<C nnwhuwuwn 56.47 15811.6 280
33620000 |Lnphuwnw 50dq t< nbnwhwun 34.64 9699.2 280
33620000  [Lnphuwnw 100dg/12.5dq t< nbnwhwn 69.52 9732.8 140
33620000 |Lnigbunwd 800ug N30 t< winuh 1514 7570 5
33611200 |Lnwbpwihn 2dg N40 c< wnuh 293.2 1466 5
33620000 |Lhuwphuwp 20dg N30 c< wnuh 12883.5 51534 4
33611200  |Lnpwwnwnht 10dg N10 c< wnup 220 13200 60
33620000 |Lhnwnnl 1000qt| c< nnuh 2240.4 44808 20
33621740  |Lbplwibl 10dq N 28 &< wnntth 2702 27020 10
33620000  |Ynpywinhl 254; < wnnuth 598.5 17955 30
33620000  |“npyduwin 254 < wnnuh 112.9 4516 40
33621690  |“wnybinhin| 12.50q N40 c< wnnuh 960 38400 40
33621680  |Ywpybnhing 25dq N40 (1S wninuh 982 34370 35
33621690 |4wnytnhin| 6.251q N40 cL wnuh 756 30240 40
33620000 |“4wpnhltin Manwipn-20 N50 G< uinuh 1320 66000 50
33620000 |“4wipnhybwn Nhnwpn-40 N50 (24 wnnth 2234 89360 40
33621510  [“wuwnwiph 50dq N24 o< wnih 264 18480 70
33621510  |Ywwnuphy 25dg N40 o< winuh 151 30200 200
33651148  |Mninphdwgn) punip 15q o< wnup 188 11280 60
33691134 | 4wihnuwih pinphn |- 4% 2004; c< winuh 410 20500 50
33691134 [Ywihnuwih pinphn, -p 4% 1004 c< wnuh 390 15600 40
33671135  |“wighnuwh pinphn 10% N10 t< wnnuh 377 37700 100
33620000 [Ywpnhndwquh 754g S nbnwhwn 17.15 171500 10000
33620000 |Ywpnhndwquhy 150dg N100 c< winuh 2057 102850 50
33620000 |Ywpnhnjwi$ N96 (24 winuh 1007 15105 15
33660000 |4bunntiwy wdw. 100dq 2u; N10 c< wnuh 1389 277800 200




33660000 |Ytinnuw] 50dq N25 c< winuh 1140 34200 30
33660000 |Ybwnnuwy 1500g N30 [ wnup 2444.5 122225 50
33660000 |4bwinuw $npunk 100Ug N20 (8 wnnuth 1300 104000 80
33660000 |Ybtwnnlwi nbinwpn 1500g N20 S wnu 1618 80900 50
33620000 [Ynuwyhnt wdy. 2dg 0.2d)-ubipwplbhs N5 %S wnuh 3900 585000 150
33620000  |[Ynpnwpnti 200dq ¢< [ nbnwhuwn 62.42 74904 1200
33620000 |Ynpnhwiht wdy. 25% 24) N10 G< uinup 1173.6 70416 60
Undbihu -uwwnppnwih piigntiwn wdwy. 20% 14; o i 75350
33621340 [N10 376.75 200
33661117  [Ywwnyquwfunuih hwunyN50 o< wnup 85.1 6808 80
33620000 |4nllnp 5ug N50 c< wnuh 2515.15 150909 60
33620000 |Ynuljnp Unp 2.5Uq N30 o< wnuh 1302.77 78166.2 60
33611420 |4wighnuwih gyniyntiwwn 10% 104 N10 c< wnuh 1345 67250 50
33611420 |[“wighnuwh gyniyntwwn 10% 54 N10 (S wnuh 745 74500 100
33620000 |Ynyuppopuhiwqu wiw.50dq 20) N10 t< wnuh 3750 75000 20
33610000  [4pbint 10000 n/uy N20 (S winuh 2030 40600 20
33610000 |4pbinu 25000 n/uy N20 t< wninuh 4085 40850 10
33691175 |4jhnu D 100dg 7 ntnwhuwn 139.33 20899.5 150
33620000 |4ipuwl ywwnpwuwnh ubip-hs 0.24) c< upqwly 1727.84 138227.2 80
33611420 [Y4wigh D3 $npubki 5000q/400ME N120 c< winuh 4615.54 461554 100
33650000 |Ywibinnt 30q |- pUs. e wnuh 700 10500 15
sy [ | o [t [ | |
33620000 |Yn-ubilnnp 100dq+12.5dq t< nbnwhww | 131.85 52740 400
33620000 fﬂnﬁ'ﬁn‘lﬂf’ OOOdt?ojifs'JjZ E‘Z’g . 6s wnup | 2650 SR e
33621390  |Y4npnwpnt /hwdwpdbp/ wduy.5% 34 N10 < wnuh 2300 69000 30
33620000  |4wyhtwnnu 10dg/24; t< upyuy 165.69 16569 100
33620000 |4wyhuwninu 25dg/54] t< upywly 228.54 22854 100
33621100 |<bwwphU-hyyn 50) N5 t< tnnuh 2195 439000 200
33621100 |<kwwnhl punip 25q t< ninuh 577.49 57749 100
33620000 [<hwnubin 5dg/10dgq N40 c< inuh 2400 24000 10
33621320  |<wyybh hwund 16 N10 (%S wnuh 315 3150 10
33631220 |<pnpnlnpwnhgnt punip 1% 15q t< wnuh 216 2160 10
33660000 |<kdnUn| 5004 < W[ thwpbp 720 108000 150
33691123  |Ubipbunwgn| 100dg N6 (24 unwh 208.8 2088 10
33650000 |Utnpnuhnwqny 0.5% 1004 N1 G< wnuh 166.8 417000 2500
33650000 |UtitnpnUhnuign 500dq N20 t< nnuh 746 22380 30
33660000 |Utipuhwwu 24| N5 < nnuh 1200 240000 200
33660000 |Utpuhwyphd 2u; N10 [ wnnuh 1980 158400 80
= ;Bhfqt;g?{?}\l 110(§)1Iq/ 211 N10 hwdwpdtp Utipuhuphd > nnuh 080 — B
- ;)?qligi}[?]r_\l 215(;)1Iq/ Su N10 hurdwipdtp Ukpupupful oC o 3] VTR0 o
33621700 |Utannupnin] 50uq /tqhynyy/ < ntnwhwn 23.35 21015 900
33631286 |Uhyntuuqn) u-p 2% 15q t< tnuh 295 5900 20
33611341 |Uwgll B6 < ntnwhuwwn 43.92 87840 2000
33661000 |Ukjopuhljwd 155 N20 o< wnuh 1057 31710 30
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33691145  |UwqUbghnudh unybwin 25% 5mi N10 cL wnup 287.28 114912 400
33620000 |Uwlh -Skl e 10% 4004 c< wnuh 620 24800 40
33611000  [Utighd $npwk N20 o< wnuh 576.01 17280.3 30
33630000 |Utilyn| Pnphdtin punip 40q c< wnuh 239.4 23940 100
33611160  |Uhinnlnupwiipn. 5ug/24; N10 cc wnuh 470 141000 300
33620000 |Mnippnny 20; N5 < wnnup 2280| 68400 30
33620000  |Utiquinnt 1%10) N10 o< winuh g3s| 25050 30
33620000  |Uhnnluwpd 146/100dq (S upyuly 465.76 116440 250
33620000 |Uhnnlwd 150dq o< ntnwhwwn 80.06 96072 1200
33651139 Lsrggih: g?é;: %2%310 B c< $ruynu 1200 96000 80
33611160 |Unwnhjhnud 10dg N30 o< nnuh 4845 48450 10
33621000  |Uwpnnt wipnuwihuh - 1004 20% c< . thwpelie 32000 96000 3
33620000 |Snwhnnpu unyninpwwn 100dg N10 c< inuh 2480 49600 20
Un-nny (Hudn nnu. 2.5% 40q hwdwndb
33620000 qlu;ul;wl 2502/q 50 R i nnup | 400,38 140038 10
33611170  |Lno-Upihp 40dq o< hwp 6.5 19500 3000
33611170 |Unp-Guw $npink 80uq. C<  |ntnuhwin | 5745 29640 800
33691136 |Lwwphnuwh pinphn |- 0.9% 2500 .t< wnup 163.2 1305600 8000
33691136  [Lwwphnwh pinphn |- 0.9% 1004 c< wnuh 159.6 239400 1500
33691136 | Lwuwnphnuwh pinphn. |-p 0.9% 5004) o< wnup 166.8 750600 4500
33691136 | Lwwphnuwh pinphn |- 0.9% 10004d; t< wninuh 210 420000 2000
33691136 | Lwuwnphnuih pinphn. |-p 0.9% 54| N10 o< wnuth 315 78750 250
33620000 | Lhwnpn 5dq/24) N5 < wnintth 6907.95 138159 20
33620000 |Uhuipngihgbiphu 0.5dq N40 &< wnnuh 3213 9639 30
33621750 |Updbnhwht npwdt 10dg N50 < wnnup 720.44 28817.6 40
33650000 | Lpbnipndbin 220uq/5d] 1004 o< wnuh 1980 79200 40
33691100  |Unynljwihl wiwy. 0.5% 24) N10 t< wnuh 189 9450 50
33691100 |Lnynlwjht wdw. 2% 2d; N10 t< wintth 190.95 9547.5 50
33691100 | Lnynlwjht |-p 0.5% 250u; c< wnuh 504 75600 150
33611380 | Uhynuinhuwppent 10dg/d| 10 N10 &< wnnth 839.7 25191 30
33660000 | Lnjhwnti Rh-$npunbi 10dg/2.5uq N30 S wnuh 5773.74 866061 150
33660000 | Unjhuply Upghtpu $npunk (S nbnwhwwn | 15868/ 380832 2400
33660000 | Lnihunk; Upghtpt c< nbnwhww | 107.68 258432 2400
33691144  |Lwwnphnuwh phnuny$win 30% 54; N10 c< wnuh 441 132300 300
33610000 |Lwphuti N120 < wnintth 2640 13200 5
33620000 |Ubiphiiin N28 (S nnud 2422.87 72686.1 30
33650000 | Lnipnbl dwlily. 100dg/54; o< wnuh 1000 20000 20
33661200 |Uhdbuh 2q thnoh N100 c< wnuh 6000 60000 10
33660000 | Lnpunhywl 160dq L nbnwhwn 80.39 24117 300
33660000  |Lnpwhywu 80dg L nbnwhwun 67.84 20352 300
33620000 | Mpbuwnwbu 100g/10 N30 o< wnuh | 5731.785| 630496.35 110
33620000 | Mpbuwnwliu 50q/10 N30 (78 wintth 4686.981| 374958.48 80
33620000 | Mpbuwwuu 10dg/5 N30 c< wnuh | 5727.211| 458176.88 80
33620000 | Mphiunwtu 5dq/5 N30 c< wnnup | 4686.981| 374958.48 80
33620000 | MNpbunwphnud 5iiq N30 (S tnnuh 3115.667| 186940.02 60
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33620000  |TMpbunwphnud 10dgq N30 c< wnnup [ 3873667 232420.02 60
33661122 | Mwpwgbnwdng 0.5dq N10 S winup 37.99 3799 100
2 T L T £ AR | B S
33650000 Udnplllrmulfwnj{ 62560,N15q o G< | nbnwhwp 133| 19950 150
33621540 | Mwwwiltipht dndpy0.02g N10 cL nnup 540 2700 5
33621542 | Mwwwybiphu wy. 2% 2d) N10 7S wnuh 308.9 46335 150
33661000 | Mbtpubt n/h N4Q hwdwpdbp Mbpubt Stipkl N40 c< wnuh 1670.6 33412 20
TGAUGUT pINuTG NZU MWUWTOGE TTUnuGy qnioun
33661000 |N20 g tnnuh 1891.5| 37830 20
33691186 | Mhpwgbinwd wdw. 20% 54 N10 c< wntth 380 114000 300
33691186 |TMhpwgbwwd n/w 0.4 N10 &< wnuh 106.4 2128 20
33661000 | Mpbnuhqnint S5dg N50 <L wnntth 405.27 12158.1 30
33661001 |Mpnglipht 0.05% 14 N10 t< wnuh 381 22860 60
33611390 | Mhphnnpuht 5% 14 N10 < wnuh 170 8500 50
33620000 |Mn|ytipinhly24dq N6O &< uinuh 4140 82800 20
33620000 | Mnitipwnnhly 16ug N30 t< wnuh 3690 73800 20
Mptinniyunwy UM 35dq N60 hwdwnpdbp Sphdtiynp o< nnuh 78300
33622200 |UP 35uq N30 1305 60
33622000 | Mwlwughl wiy. 104; o< upyuwly 215.56 258672 1200
33622000 |Mwuwughti n/h c< nbnwhwwn 20.03 30045 1500
33621140 ﬂl]gﬂqhgu 75Uq N14 S ; (]S winuth 3812 76240 20
H uwuipnw w w N [y
33660000 ul["IL{ILiJl{UanNTO inuu ra:L u(: lw ::[ " B innuh 24000 24000 1
Hwitnn wagn n w
33611120 bnlwwatlupm?io} e i &< Plulynu 1082.04 54102 50
33621140 [4jnwhnngpt 0.075 dq N30 [ winuh 3690 73800 20
33631287 |Mhuiwbnight dndhly N3 c< wnuh 2943.25 8829.75 3
33670000 | Mnipnpuwl 4008g N20 (1S winuh 7400 148000 20
33670000 [Mnipnpuwl 20091004 c< wnuh 5081 101620 20
33661122 | Mwphyw 100 §| 10001g < nnih 2200 88000 40
33691133 |2nip Lbpwplydwl hwdwp 24) N10 c< wntth 189 1890 10
33611341 _[Mniphnn| 2d) N5 hwdwpdtp Ukdpnikl 2d; N5 c< wnuh 567.2 11344 20
33691129 |MHhugkip |-p 5000) G wnup 166.8 500400 3000
33691129 |Mthughp |- 2504; < wnuth 163.2 81600 500
=d g;ghmbq 20dg N14 hwdwndtip Euwjwuwph| 20ug c abnuhup o 29400 N
33651156 | hbuduhght 300dq 2 il T R -
33611000 g?dr:lfor(})f;l:m ey hefundte Hhgnindin 200 ee T 1980 e 5
Uwnn wpn 100dg N24 hwdwndh
33610000 bhﬂ:::nr:\t;uzthr} 1%0uq N0 ee [ nbnwhwp | 37755 -
Uwnnw nhwn 200dq N12 hwdwpdtp Epubdniph; e ntinwwwun 1685.6
i EJ?qojgd,\g[gnh (- ou N10 hwdwpdbp i = 2
33691100 |Uwjwiquwnnl 54 N10 &< nnup 1308| 83880 60
33691100  |Uywqdwwint n/h N50 o< winuh 550 8250 15
33630000 |UhLw$jwth punip 0.025% 15gn c< winith 184.65 1846.5 10
33691210 [Unpndwlinpu & 1d) 0.0025% N10 [FS wnuh 410 6150 15
33671113 |Uwpnunwing 2d0q  N24 c< wnnuh 312 15600 50
33671113 |Uwipnunwding ). &< wnnuh 899.45 8994.5 10
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<

33671113 |Uwyipnunwdng wbpngn wntth 1411 35275 25
33671000 |Ubipbiwwin nhulwu 50/100ulq 60 o< nnup 7712 77120 10
Undwghtw wdy. 500dg N5 hwdwndbp o< nnuh 113480
33620000 | Skpwpunu 5004dq 44 N5 5674 20
33650000 |Utnpbwyinndhght n/thnoh 1g tc wnuh 149.6| 224400 1500
33620000 |Unypnlwiddnlyuwih widuy. 10% 2mi N10 2 wnuh 566 141500 250
33640000 |Unuypwuwnhl n/h 250q N20 c< winith 1136 34080 30
33640000 |Unuypwunpti wdwy. 10) N5 o< wnnuh 1352 67600 50
33611000  |Udblwnw N30 7 wnnuh 1398 41940 30
33621110 |dwpduwpht n/h 2.5dq N100 cL winup 880 8800 10
33620000 |duwihnni 0.06gN10 cL nnuh 81.6 8160 100
33611341 |dhlwun| 10dg/16N10 t< winuh 878 17560 20
33691187 _|dhliwngtnht 0.5% 24N10 G winuh 800 4000 5
33611341 |Ypupnud Ywighnwd +4hwnwdh D3 N100 G< wntth 4396 351680 80
33621730 |dbipwuwjundh) 80ug N30 c< wnuh 816 8160 10
33611341 ihmwdrgt a hwuj;bhs %ulumodb + - c< wnuh 1200 48000 40

njunw uri U hwdw : n w
33631310 'thnnh:ui 500, ’ o TR s iy 153.42| 46026 30
33661000 |dnjnwpbt 754q/3d; N5 c< winuh 1829.55 73182 40
33661000 |dUnjnwpbl kdnyghi 20q &< wwpynib | 160472 40118 25
33620000 | Ubipnowhpnt 504q ki 4357 T
33620000 _|dbuuti tnubd wiw. 600LU72d; N10 el wnuh 14900 74500 5
33620000 | Ywinlwpnhtu 204 t< wnnith 935 37400 40
33661200 |4nipnnt dndhy 100dg N10 (]S tnnuh 3250 97500 30
33661200 |4nipnnti n/h 100Ug N10 c< wnuh 1350 13500 10
33631282 | Shipdhtwl dndhly N10 t< uinuh 2997.1 149855 50
33621420 |Snyhy 20dg N30 c< winuh 7337.6 183440 25
33621420 |Snyhw 10dg N30 &< winwh 4209.03 105225.75 25
33621420 |Uwinpdwuwnpti 10dq N30 &< wnuh 1127 11270 10
33621100 |Spndpwuuht hwiwndtip Ywpnhn-UU 100dg N20 c< winup 540 27000 50
33691100  |Stdww)ghu N20 c< wnnuh 426 42600 100
33621100 |Spbuuwy wiwy. 54 o< upywly 277.53 13876.5 50
33691100 | Swybgh) 1dg N20 c< wnnuh 1104 27600 25
33691100  |Swybgh| wduy 0.2% 2ml o< tnnuwh 1278 38340 30
33660000 |SpkUwnuy n/h 400dq (o8 ntinwhwwn 86.9 17380 200
33660000 [Shnywwghn 600uq/244; N5 (7S wnnuh 9115.8 91158 10
33650000 | Stwpwghljht whuwpunip t< wwnlnib 540 8100 15
33660000  [Skpbippnihght 16 N10 c< wnuh 5741 57410 10
33660000 |8kpbippnihghu 5u; N5 S wnnuh 10774 107740 10
33691238 | 8kwnwdny dndhly 3258q N10 (24 winuh 626.15 12523 20
33651116 |8b$uwgniht 1q c< wnnuh 161.6 484800 3000
33651118 [Stbuphwpunt 1 c< wnuh 143.55 861300 6000
33621240 | Shwunynpwiwdhy 500dyg N10 c< winuh 164.87 6594.8 40
33651134 |8hujpndinpuwght 250dq N10 cL wnh 198 19800 100
33651134 | 3hupninpuwght 500uqg N10 c< wninuwh 344 51600 150
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33651134 [Shujnn$inpuwghts 0.3% -2 10 U} wsph Yuiph, (S wnuh 540 8100 15
33611160 |8kpniyw) 10dg/2u) N10 G< winuh 3000 60000 20
e e I e P
g gg;lglzlﬁzgﬁléﬁllghh 20017 400uq hunlwipdtip Shuypn. oC b o 16400 .0
Ise | ?OI;TKI{EI}M 10U} 50uq hundwpdtp Swjuhptl 50ug oe wifugnuu o 277500 "
33650000 |Unpuhghti wyph Ywphy 0,6% 5u) (1S wnuh 2160 21600 10
33650000 |"thynphtmly opwunhuhy 0,1 % 10u] wsph Yuphy t< wninuh 1560 15600 10
33650000 |<hqhnn) 0,5% 5u| wyph Yuphy &< wnuh 2160 21600 10
33650000 |Uhgnwuhy 2,5 % 10u] wyph Juiphy o< wnuh 2400 24000 10
33650000 [Ihqhuwpbpu 2,5 % 5u) wyph Yuphy c< winth 3360 33600 10
33620000 |[Ruwpbjwnin 20dq N28 t< tnnuh 29000 435000 15
33610000 |RJwdwink; 20dq upy. t< upyuly 609.38 243752 400
33610000 | Rwiwinby 40Uq c< ntnwhwn 64.03| 537852 840
33610000  |[Rywdwinb) 20dq &< ntinwhuwun 37.08 62294.4 1680
33641100 | Opuhwnght 14 N10 &< uinuh 939 281700 300
33611100 |Odbwpwaqn) n/wj 20ug N30 < c< wnuh 375 112500 300
Oujwntipu 5004) hwdwpdbp Mwqin-Stp |- 6%
33650000 50(130? i l e TR e &% nnup 1gg0| 420000 250
33650000 | Owpnbjwpu wlwloh Yuwpehi t< winuh 985 29550 30
33611160 | Ounwlubitnpnl 44 8udq < wdwnijw 800 40000 50
33611160  [2nUnuwl 44) 8dq c< wdwynijuw 800 32000 40
33651150 | byniynwgny 150uq N c< winuth 100 10000 100
33650000 | dnipuwight 2ohY 54; &< wntth 204.6 6138 30
33611120 | Dwdninpnht 0.02dg N20 t< wnuh 265.2 13260 50
33611120 |Swdninhnhti 0.04dq N20 t< wnuh 657.8 32890 50
33621590 |bnipnubidhn 40dq t< ntnwhwp 33 3300 1000
33620000 | bbipnwyn; 50dq/; 304 c< wnuh 2225.6| 17804.8 8
33620000 |bhghnintig 0.4 Ni14 < wnuh 3024 84672 28
33671000 |Udppnpuni 0. 15dq/54j 1004 G< unnuh 716 10740 15
33631000 | dinighunint punip 15q c< winuh 300 6000 20
33620000 | btipnud |kl 100dq N30 (e winuh 2547 25470 10
33621590 | Snipnubidhn, wiwy. 1% 2u) N10 [ZS wnuh 239 143400 600
33611000 | dnudbwynigh) nnlinnn U/p16q < thwpbp 126.8 50720 400
33651192 |O&h hwlwpnyl < 22h 120000 480000 4
33651212  |<Swlwihwjnwgdwy wlwnnpuhti ohéiny c< 2hy 370 3700 10
33651215 |<wlwquugpblung wuwwnnpupt ohénwy o] 22hy 120000 120000 1
33651199 | <WYwlurnwnnieiwl ohéniy t< 2hYy 6470 32350 5
33651191 | SWlwpnunyhliught ohéndy < 2hy 11900 35700 3
33661000  [UUndinipuit 100% 2504 9< $rwynu | 93000 279000 3
33671113 |Uwipnunwin; whpngng F< wnup 1411 14110 10
Z‘E:l“:zi:bunwﬂphnwl{nnnui'uhp, gnpdhpubn b ——
33141145 |Uubn uughliu 23G Pencil-point t< hwtn 450 67500 150
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33141145  |Uukn uwhtiwy 25G- Pencil-point t< hwwn 440 66000 150
33171500 Zzlil;luﬁu';ﬂmn::;uqﬁ;i%tt:wngé &t e 8900 44500 i

5
33141000 |Ukbwnpntwlwl Epulught junbnph hwduwpwusm G hun 6000 30000
33141000 |Gonuph kptpuluyht junbnph < hwwn 191.63 28744.5 150
33171200 |Cughwimp wiqquyugdwh nhuwul N6 < hwwn 12000 24000 2
33140000 |Ubpkpuuyhh junnbwph Epljwpwgnighs 3uknp t< hwun 243.01 3645.15 15
33141211  |UYUni - 2kp Mhpdnuw phun ~kphqibp NSO (7S wnuwh 5343 106860 20
33141211  (8tpdhlwy unquibiuily (o] hwtn 39.89 39890 1000
. ilf:lzlfﬁiihmumh tphynnuwth phwl (Quuint) ¢ huiun 20 30000 1500
33141211  |Zhpwnguyhb huygkih o< hwwn 109 163500 1500
33141211  |Unwphuyulub wyulh 25,4x76,2 < hwun 7.3 14600 2000
33141211 S;L-u];gl;l?ilm}]lfd?l;ﬁgmmh e < hwuwn 4500 22500 ’
33141211  |Uubin 21G < hwwn 4.98 39840 8000
33141211 | Pnjulibpwplydwt (hibnighnt) hwiwlwng o< hwun 48.8 585600 12000
33141131 |Upjnit ytinglibynt dwuywybb wipwlubpny o< huwtn 260 13000 Y
33141115  |Pwdpul (14 hwun 270 324000 1200
33141133 |Phuw 7x14 ng uinbiph) hwpbpwynpdws c< hwwn 84.5 152100 1800
33141133 |Phtun 7x14 unbiphy hwpbpwdnpywd < hwwn 92 165600 LY
33141133 |PhUwn ghwuwiht 2,5x20 7S hwwn 314 31400 100
33141114 |Bwilgh$ pdolwlw t< hwn 71.65 501550 7000
33141211 |@nine E4G 112x100x300 < hwtn 1500 300000 200
33141211  |fFnugp E4S 60x30 c< hwwn 365 43800 120
33141211 |@nune E4G 50x50 e hwiwn 350 28000 S
33141211 |[Puwnipwghnt funnnyuwly c< hwn 232 11600 >0
33171200  |Lwphtghu nhuwy Ukswhwuwlh N4 t< hwtn 10000 30000 3
33171200  |Lwphughwy nhuwl Ukdwhwuwljh N5 hwtn 10000 30000 3
33141211 [Owdljwwwyh 22x22 o< hwn 3.2 12800 4000
33141211  |Owdlunywulh 22x48 c< hww 8 12000 1500
33121180 |Upjwl 6uodwl swihhs uwpp t< hwtn 3150 31500 10
33141136 [Y4wwnbwp Snihh 14Fr c< hwuwn 165 33000 200
33141136 |Ywwnbinp bpwljwihti 206 t< hwtn 48 120000 2500
33141136 |Ywwbinp bpwlwihu 226 t< hwwn 48 120000 2500
33141136 [Ywwnbip bpwlwihl 246 t< hwn 52 130000 2500
33141136 [Ywwnbwnp bpwlwiht 186G &< hwn 48 7200 150
33141136 [Ywwbnp bpwlwihu 16G T4 hwn 48 4800 100
33141136  [Ywuwnbiwnp bpwlwihu 14G &< hwun 85 2550 30
33141211 [AMBU wwphh nhuwy dkbwhwuwyh N5 swthu &4 hwn 12500 62500 5
33141211 |dhpuwwnnp ghinuynghuyh hwdwp t<L hwwn 6500 32500 5
33141211  [Yuwsmib uwbnuih 1.9°7.2 (YEwnuyh Jhpufuug) < hwuwn 4.7333 7100 1500
33141211 |4bwngnun unbiph] winpwydwinhl wubinny c< huwtn 185 27750 150
33141159 |Qkinungbip pdoljwlwi ny uwnbiphy t< hwwn 11.85 177750 15000
33141156 |Qtinungubip pdolwlwl uwnbiphy c< hwwn 92 184000 2000
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33141173 |Ubiqpuinnilih wuply o< huwin 75 37500 500 |
33141183 | Lwagnquuwnpuwy gnin t< hwn 74 7400 100
33141142 |Ubpuiplihg 10,0 bnwlnduyntibn 21-23G wubinny S hwtn 21 315000 15000
33141142 [Ubpwiplih 2,0 bnwlyniyntiblin 21-236 wubinny o< hwn | 13.65 204750 13000
33141142 [Ubpwiplhg 20,0 bnwlndyntiblun 21-23G wubmny | &€ huwin 3255 195000 6000
33141142 [Lbpuwiplihg 5,0 bnwlnduyntiblin 21-23G wubinny < hwun 11.88 178200 15000
33141142 [Lpwinbihy hbuny. 1,0 100dhwynp 27 G wubmny o< hwin 10.4 10400 1000
33141157 [Lgwwph dwyp ol hwn 16 19200 1200
33141211 |Swjwintyy thupnk o< hwun 5.25 15750 3000
33141211 |Mhybwnlw NOE t< hwtn 105 21000 200
33141211 [Rbnul (o7 hwin 846 8460 10
33141211 |Qbnwl hwdwlgluws < hwn 1313.8 6569 5
33141211 |Qbpdwswih t< huwtn 255 25500 100
33141211 |Mluingbu bpluwljhs G-230 t< huwin 9000 54000 6
33141211 | MMhlungbl dwwywybu 3x4/100 < hwn 9600 38400 4
33141211 [MHangbt dwuubl 13x18/100 t< hwuwn 10000 60000 6
33141211 | Halungbli dwiywilil 18x24/100 /yuitiw/ [ hwiwn 12000 144000 12
33141211 |Hhluingbt dwwwybu 24x30/100 Mywitiwg/ o< hwuwn 18000 144000 8
3141211 | MHalnghli dwwywybl 30x40/100 /yustiwy/ o< hun 30500 244000 8
33141211 | MHalinglit dwwywiybl 35x35/100 /ljustiwg/ c< hwwn 32500 260000 8
33141211 |Nhuwngbt dwuwwybl 35x43/100 MYwitiws/ < hwtn 37500 187500 5
33141211 |MHilinghl dwiywybl 35%43/100 YS-h hwdwp t< huitn 102000 510000 2
33141211 |Mhuunght $hluwd 305 o< huun 9000 54000 6
33141143 |UGwph$hlwinnp oS hwn 3.48 41760 12000
33141160 |Unlnghy 260,0 1 e hwn 254 101600 400
33141112 |Uwbinuith 5ud*5.54 Yunnpt hhupny hhunwibpghu G< huin 350 350000 1509
33141121 |dhpwpnidwlwl phy (Sbnwpu) N4,5,6 o< hwuwn 95 47500 300
33141121 |dhpwipnidwluit phy (Jhlphy)wubnng 0,1,2 o< huwn 385 192500 300
33141121 |dhpwpnidwlwl phy (Yuwpnt) 3,4,5 6 t< huin 120 24000 200
UTIUq U OO T [ILLLI LAY LEele LoLe) g =g o guyg, -
33141211  8FG < huwtn 48 2400 0
33141211 ;J:;uquwu PR TR SRET Ry o< hwn 48 2400 0
33141211  |Uwhpnubnphugh Jungnduy < hwin 220 66000 300
33141211 |Uyhpadbinphugh funnnyul tnipnny o< huwtn 500 150000 300
33141211 |Uuqqujwgdwl uwpph hwdwp wnunppbuwn 4,5 g e huun 15000 45000 .
33141183 |Lwgnguuwnpuw qnur, 12,14 c< hwtn 74 3700 50
33141183 | Lwgngunpw| gnun 18,20 S hwuwn 74 3700 50
33141183 | Lwgnquuwnpw gnun 6,7,8 t< hwtn 79 3950 30
33141211 [ Lbipddynn uwiwl 60x90 (ol hwin 170 34000 200
33141130 |Swpw wbwihgh hwdwp ng uwnbiphy 1504; c< huwin 59.5 89250 1500
33141130 |Swpw wtiwihgh hwdwnp uinbiphy 1504 c< hwwn 60 60000 1000
33141211 | Skuwnph$nig thnpdwlinpe t< hwn 90 90000 1000
33141211 [Uunyh htamfbnp t< hwtn 11800 23600 E
33100000 |npjujtidh Yudbpu < hwwn 4900 9800 2
33141211 [dhpnph prunp t< hwin 3500 7000 2
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30
Uhwiquuju oqnnugnpduiwib uyyhpuyghl eC nnuh 466.67 14000
33141118 |wbdknnghlj N100
Uhwhquuju oquuugnpduul uajhpunwjhb 30
(oS 733.33 22000
33141211 |qughlukp (70% hqnupnuih wughpw) N100 6.5ud tnnup
lquu] Suwl pd T q(Juw 700
Uhuibquudju oguuignpsuwt pdpmiuh guwpy ny |- hustn 1,45 o
33141211  |uknuyws Yuunywn L surthuh
Uhwbquifjw oqunugnpduiwh putfuh) hphuwyh 10
nkqhiny swhup 38ud ny Wwlwu  wntthod 100 c< wnnuh 600 6000
33141211 huwn
DA 1500
Mwuwhy thnpdwunp 1.5 dj. Ywihwphsny e hun Z 10500
33141211 |Eppendorf inhwh
500
Muuwnhly thnpdwlnp 2d). “Ywihwphsny Eppendorf ¢ huwtn 6 8000
33141211  |whuy
33141211 |Uwkphyynty P 180/60p. t< wnuh 60000 60000 1
33141127 [Ukpddiny hpulusnis t< hwn 4500 45000 10
A08wh dwhdbin dEdwhwuwyh UwGhwnp oC hutn 2000 4000 2
33140000 | TRISMED hwdwp
Mnyunpuhdtinnp dESwhwuwyh UwGhwnnp o< hwtn 25000 50000 2
33140000 |TRISMED hwdiwnp
33141211 |Udpwly N18x6 &< hwuwn 43000 86000
33141211 |XP-300 Swhshpninp o< hwwn 800 4800
33141211 Uhljpndbwn 100 vl tL hwuwn 15,000 30000 2
33141211  |dwynunughbpp K2 EDTA o< hwtn 6,000 60000 10
33141211  |Uubknubkpjulynunuyubpubphhwdwp e winuh 2.300 23000 10
33141211  |Unwunnp, Juinunujubpwubnbiphhwudwup t<L winuth 4,000 40000 10
33140000 |Fyniynutinp NEpdnpdw (o4 hwn 2,000 4000 2
33141142  |wywunhy hopdwbnplbp ELU-P hunfwp t< hwn 13,000 65000 5
33140000 |@npulw) gpkiwd18-26 o< hwn 2,500 175000 70
33140000 |dnjhh juwnlknp howgnir (S hwwn 204 6120 30
33140000  |$nihh Jwwbwp kpydnin 28 hwwn 165 4950 30
Uhypnujhutn hnpnpuwljwh Suypny (pnquunnp) 18,000
33140000  [100-1000uY/y (S huwn 18000 1
U b ud 204 18,000
hypnwhybn hmhnjuwlwb Sujpny (3nquunnp) e hustn o 1
33140000 |200uhy/q
33140000  |Ouypuljun thypnuhugbnh hwtup 10006y o< hww L 12000 3000
33140000 |Owypwlw| vhipnujhwbwh hudwp 200dY/q t< hwun 3 9000 3000
33141211 |Hwynunwubp  gbnyh < hwwn 82 123000 1500
33141211 |Hwlnunwiubp bwwnph ghnpwnny t< hwuwn 80 24000 300
33141211 |“wlnunwubp Li- hbwwpht < hwuwn 80 40000 500
33210000 cobas c111 Bninp wnuwhsh o< hwtn 1500 12000 8
Uubn Cobas ¢111 -h hwdwp PROBE SET ¢111
33140000 [Yud hwuwpdtp i hwuwu 153000 153000 1
33140000 |Upjwi Lklwnpnjhinbbph yipmohs 9180 Ge hwwn 1200000 R 1
33140000 |(*EPEpkluu EjkYunpnnh wipwlw(9180 uwpph o< hwwn 171000 171000 1
M
33140000 | TEMGEUNUEN tunnndwliubiph hwdwpwan o< hwn (80000 80000 1
S I 80 h
33140000 | owheh PN ISE 9180 uwinph hwdwin < hwwn {7500 22500 3
cobas c111 Zungkh
33210000 | uniy 12 vi20 w < |hwn 50000 50000 1
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33181120  |thwjhgh qml’xai htunphwjhquunp HIPS 16 9 hwwn 5800 580000 100
33181120 |thwjhgh thz‘ htunnhwihqunnp HIPS 18 (68 hwn 5800 870000 150
33181120 |thuyhgh quihy hbkunphwihqunnp HIPS 21 bt hwun 5800 5800000 1000
33181100 |Upub hnupwghd C<  |hwwn 1980 2376000 1200
33141149 | dhunnyuyhli wubknubp 16G, q/t cc hwwn 299 299000 1000
33141149 |Shunnnywiht wuknukp 17G, q/t c< hwun 299 44850 150
33141136 |Yklunpnbwlwh Epwluyght, bphdniny junnbukp n- o< hwun 12700 50800 4
33691139 [2hUtyhl ppnwlyniph pwpenhy < hwuw 1941 2911500 1500
33141211 |dphnp nhuhqh wywpunh hwdwp <L hww 75168 225504 3
33141211 |nnndwy nhwjhqh wuywpwnh hudwp t< hwun 4750 38000 8
Lhuhwljul ynipkp 21178399
33630000 |Pdolwlwu uwhpin 70% t< (hwip 915 228750 250
33631240 [Rnphbpupnht 0.5% uwhpunwihl |-p o< {hinp 1300 520000 400
33630000 |Ptwwnnhu 10% 1) (1< {hwnp 4000 400000 100
33631260 |Unwdwunw Ywbws 1% 10d; 724 hwun 98 9800 100
33630000 |Mbphhnpn) 33% 1| t< (hup 595 59500 100
33630000 |Ywih whpdwiquuww 10g < hwin 38 3800 100
33630000 |Pnpwppent 30q L hwun 237 2370 100
33631260 |3nnh ngbpnipd 5% 304; t< hwtn 198 39600 200
24451140  |Upwlwbiph; hwp N300 (o748 hwuwn 2500 12500 5
24451140  |<bpuwUhnu lunwune 1; < hww 3993.33 59899.95 15
24451140  |Lbjynubiuyn 1; ]S hwwn 2700 54000 20
< 25500
24451140  |Unipdwuhnu 1) hwwn 5100 5
250
24451140 |wplws, 50% ¢ hwwn 3000 750000
24321000 Pwphnuih unyduwwn 100q t< habun 194 194000 1000
24321000 | tnahu o< qpwd 10000 10000 1
dnu U bwwphnud &< 1500 1500 1
24321000 | MMURRUWPL Lunnnhny ia
24321440 |Rwguwluwppnt G (hup 1500 7500 5
24321000 |UNUPnUWhghiwireRnL t< ba 5000 15000 3
Whphihu Yuwn T g 500 500 1
24321000 %r Phipl Luwynyn qnu
Ug u o< 1500 4500 3
24321000 %:.qnmwuw e (hun
LN
iy 0.IN10 < 4000 40000 10
24321000 Hﬂwppm sy
i
; -knght Mindw Shd t< 8000 24000 3
24321600 tgnip-tnght Ntndwunduyni Shdqu (hwp
5
£ d bu U c< 1450 4350 3
24321224 Il uhn| phdpwwbu dwpnip lhtnp
-5
33210000 |CCuhwwy 350 - 504 t< hwtn 6900 345000 50
bdnpdwihu (bnpdwinbhhn 40% |-p) 20- 24
npduint (danduinbhbry 40% 1) Ha o< lg 495 123750 250
24321000 |wwpwubpny
33210000 a‘.-[hwnumnmhhr}'uhph npnadwl inbuwn hwywpuwdnt &9 wninth 42000 2000 1
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ks

b-lhynwpninkhnutiph npn2dwt nbuwn o 75000 —‘
33210000 i hwywpwéni wnuth 75000 1
C -nbwlnhy uyhinwlnigh npnpdwt wbun oC 93000
33210000 ] hwywpwdnt winth 6200 15
rh© (C)ntigniu hwdwlwpgh wuwhqbh npnadwu ¢ 33800
33210000 tnbun tnnith 3380 10
rh© (D)ntiqniu hwdwlwpah wuwnhgbup npndwl e 33300
33210000 tnkiuwn wnnuh 1850 18
Uquin (@hpopuhtih pwbwlwlwl npnadwl nbuwn oc 162000
33210000 * hwywpwdni nntth 40500 4
| Uwuhbwdhtwnpuy udbipwagh Yhubnhly oC 27500
33210000 Il f:’hqwbtul.qm{ npndwl nbuwn hwywpwsny wnth 2750 10
Ui thwnwpninkhnubiph (HDL tunjbuwntiphu) 5¢ 84000
33210000 npn2dwil inbiuwn- hwywpwént tnnith 42000 2
Wiw “Phunwpninbhtih putiwywlwy npndwl
(e ¢< 54000
33210000 i wnbuwn- hwlwpuwdni 1 wintth 54000 1
Uyupywgyuws dwutiwyh ppndphtwht
c< 22000
33210000 dwidwlwlh npnodwts nkuw - hwywpdnt wnnuth 22000 1
&< 87300
33210000 Udhjwgh npnadwt nbun-hwwpwdn, nnuh 5820 15
Ulopquiiwlwl $nupnph npnadwi inbun s¢ 18800
33210000 hwywpwdn nuh 9400 2
Uuwywpunwinwdhliw npwudbipugh Yhubinhy
< 4405.34
33210000 tnwuwlny npnodwts inbun hwlwpwdnt nnth 2202.67 2
- T UTO O YOt T 0 U G T
lininphubiphly - bnwbwyny npnduwt nbun t< 67500
33210000 hwywpuwsdni nnith 4500 15
Upywu rh nbgniu hwdwlwpgh wuwnhqbiuh ¢ 50000
33210000 npnodwl winbun upy. 2500 20
t< 24000
33211190 Unjwl fudph () npn2dwl inbun upy. 1200 0 20
t< 20000.01
33211190 Unjwl fudph (I1) npnpdwit inbun upy. 666.667 30
< 24000
33211200 Upjwl fudph (111 npn2dwl wnkuwn fupy. 1200 5 20
< 20000.01
33211200 Upywu fudph (M1) npnodwl nbuwn uny. 666.667 30
< 0
33211220 Upjwb fudph (1v) npnadwl inkuwn upy. 2000 S020Y 15
Pbuw [hu{numnmhhr}hhnh (LDL tunjuwnbipht) ¢ 150000
33210000 npngdwt whun hwwpwsn, wntth 75000 2|
Ppnigbiyngh hwpnighsh (Brucella Melitensis ) 5¢ 27200
33211280 npn2dwl nbuwn-hwywpwdng inntth 6800 4
Spndphliwhu dwdwlwyh npnoduwl phuwn - o¢ 87500
33210000 hwywpwdni 12x24; inntth 17500 5
t<
33211280 | Rpmughiyngh npnadwl nbun-hwywpwdn {RB-50) wnnuh 15000 423000 15
SFwddw qynunwdpy wnpwuudbipugh npnpdwy ¢ 16333.34
33210000 inbun-hwywpwidni50m| tnnith 8166.67 2
<
33211120 Syniyngh npnodwl unbuwn-hwywpwdne 1 ¢ winuh 5000 20000 30
33210000 bngihgbiphnutph npn2dwl wbun hwywpwsni & uinuh 4320 #1600 5
C
33210000 Enlwpeh npnodwt wbun hwywpwédn; 2 i wnnuh 14000 }:000 1
Cunhwuniy L ]
hwlnin U ninhn phihnniphtt whun o 40000
3210000 hwywpwsdni wnuh 5000 8 |
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Cunhwunip uyhwnwynigh npnadwt nbun

t< 8000
33210000 hwywpwdn. 2 winuh 4000 2
Dhr}hw'umn Shpnpuhth pwuwlwlwl npnadwl 5 160000
33210000 i wnbuwn hwwpwdnt nnuh 32000 5
D'Ur}htubmp Lnunbphh  npnodwt  wbuwn ¢ 60000
33210000 hwywpwdni nnuh 6000 10
(Feywiht $nudpwinwgh npnpdwt  nbuwn e 15000
33210000 hwJwpwédni 2 unuh 15000 1
< 36000
33210000 (Ghunjwiht bdnph  npnodwiti  nbun tnnup 4500 8
(dhpbnupny hnpdnuh pwbiwlwlwt npnadwl
t< 174000
33210000 wnbuwn hwywpwdnt wnnuh 29000 6
fa-nndpnuuwumh'uh wnbuwn hwywpwdnt THR -
< 180000
33211310 i 120 (6x4ml) wnnth 11250 16
h‘utbhqghn'u dnununiyiingh npnodwt nbuwn
t< 42000
33210000 hwjwpwdnt wnuh 21000 2
ngmwmqhhhnnnqbbwqh npnadwl nbuwn 5C 8400
33210000 hwywpwdnt /hbnniy/ wnnuth 4200 2
LJanhhbwghnq hnpdnUh pwtwhwlwlu npnodwl 5C 84000
33210000 : nbuwn-hwywpwdni wintth 42000 2
PO T aCITod s &7 PITenaTTioTTa)
hwpnighsh Uwindwdp 1gG hwlwidwpdhuutiph t< 240000
33210000 npn2dwl wbun hwywpwdnt wintth 40000 6
fujwdhnhwih hwpnighsh UYuwiindwdp 1gG 5 240000
33210000 hwywdwpdhtubph npnodwl inbuin hwywpwdn. wnntth 40000 6
funphntihly gnuwnnupnhth pwtwlwlw o¢ 47100
33210000 npndwl wnbun hwywpwsdnt 1 wnnith 47100 1
L 192000
33211290 Ywihnwh  npnadwl nbun hwwpwsdni 1 wnintth 12000 920 16
< 76800
33211300 Hwighnwh  npnodwt nbuwn hwywpwsdne 1 ¥ wintth 4800 o 16
< 2600
33211160 “pbwwnhbhuh npnpdwt whun hwywpwsdnt 1 ¢ tnnth 2600 0 10
thwmhbqhhwq wywnhynipjwl  npnadwl nkuwn
< 22600
33211160 hwywpwdnt winuh 11300 2
Cwaumnhuqanhqhh -0 npnadw tnbuwn ¢ 6720
33210000 hwywpwdnt wninth 2240 3
wYwuwnpbujuinihght -0 npnodwl o¢ 80000
33210000 tnbuwn hwywpwdnt winth 8000 10
c< 2000
33210000 <kdnginphup npngdwl buinh hwywpwédnt 2 wnnith 5000 = 4
<bwwwhwn A dhpnwh ulwindwdp IgM ¢ 30000
33210000 | hwywdwpdhtubph npnodwl wnbuwnh hwwpwdnt wnntth 30000 1
<bwwwnhwn B Yhpniuh dwlbipbuwhi wuwnhgbup o 14000
33211320 npnadwl buwnh hwywpwdne wnnth 14000 1
<Gwwwnhwin T dhpnwp UGwndwdp 1gG
hwhwdwpdhuubph  npnadwt wbuwnp c< 120000
33210000 hwywpwdn. tnnuh 40000 3
<Gpwbu hpnwh Uwndwdp igM
hwlwdwpdhttbph  pwuwlwlwy npnadwl (4 69000
33210000 nbuwn hwywpwdnt wninuh 69000 1
(hdbwjh'u $nudninwgh Yhubwnpy tnwwlyny ¢ 20100
33210000 npnoudwl wnbun hwywpwdnt wnnuh 3350 6
33210000 Uwglbtighnwdh  npnpdwt wnbuwn hwywpwdny 2 o< wnuh 7200 57600 8
Utigh dbig wnjwu npnpdwu wbuwn-unphwubiph oC 24000
33211110 hwdwpwdnt wintth 12000 2
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Utigh dbig qyniyngh, wpjwt, uwhnwlnigh, pH,
Yawinuubiph, nbuwlwpwp Yonh, uhnphuutph,

c< 28800
{inghiunh, nianphihbngbbh U phihnniphth
33211110 hr\nzdw'u wnbunuwnphwubph hwywpwdnt nnup 4800 6
; < 20000
33211110 _qun;td uwhwwlnigh npnadwl wbuwn hwywpwént wintth 10000 2
a < 17600
33211170 Uhquppyh npnpdwl wbun hwdwpwdni2 unnuh 4400 4
Uhquujniph (Uhqulynieh wgnwnh) npnpdwt o¢ 86400
33211150 wnbuwn hwywpwdni tntth 7200 12
&< 78000
33211150 Uhquiyniph npndwl wbutn hwyjwpwdnit wnntp 7800 10
&< 50000
33210000 | Uhynwjwqdwih  npnodwl wbun hwywpwsdnt winih 50000 1
&< 200000
33210000 Luwwnphndh  npngdwl wbun hwwpwédnt innih 20000 10
< 50000
33210000 Swipwph wfunnpnadwl phupuwnphy GlucoPlus hwuwn 10000 5
¢< 50000
33210000 Nipbnwiwqdwih npnpdwu wnbuwn hwwpwdnt winuh 50000 1
"f]pr?qhumbpn'uh pwlwlwlwl npnodwl inkutn 5 47500
33210000 hwywpwdnt wnntth 47500 1
’ﬁnn[wth'uh pwtwlwlwl npnodwl inbuwn o 64800
33210000 hwlwpwént winuh 32400 2
Mpnunwwn uwybghbhly hwlwgbuh pwlwlwlwu
< 202500
33211330 npnadwt nbiuwn hwywpwdnt wnnuh 40500 5
Mudwwinnhnuihtt $wlunnpubph npn2dwl inbutn 5¢ 60000
33211240 hwdwpwdnt winuwh 6000 10
33211230 Uh$ihuh npnodwt inbuwn hwlwpwédnt &< wintth 12000 120000 10
Sbuwnnuunbpnp pwiwwyuwt npnadwl wnbuwn oC 96000
33210000 hwyjwpwdnt tnnith 48000 2
Snipk dwl 5]
nipbipynyngh npn2dwl wpwg nbun X 30000
33210000 hwjwpwdnt wnintth 30000 1
Snpunwjjwqungh hwpnighsh Ujwindwdp IgG ¢ 60000
33210000 hwlwdwpdhtubph npnodwl wnbuwn hwJwpwén: tnntth 20000 3
Snpunwjjwqungh hwpnighsh Ulwindwdp IgM oC 60000
33210000 | hwywdwpdhbph npnodwt nbuwn hwywpwdn. innuh 20000 3
Spbwnutd Jg u
pawnubdw wwihnnuwh npnadwt inbun o 40000
33210000 hwjwpwdnt TPHA winuh 40000 1
Sphynaphpnuhup pwlwluwlwl npnadwl nbuwn ¢ 32000
33210000 hwlwpwdni 1 tnnth 32000 1
Sphynnnhpnuhth pwbiwwljwl npnadwl nbiuwn o¢ 32000
33210000 hwywpwdni 2 wnnup 32000 1
SPURRUGGUAYRNUN UqWnUwop 186
hwlwdwnpdhuubtph pwuwlwlw npn2dwl wbiun < 44600
33210000 hwwpwdni wnnth 44600 1
Linphnutiph Ynugbunpwghwih npnadwl wnbun
&< 8300
33210000 hwywpwdnt wnth 8300 1
33211130 Bnlbumhnhbh HDL Uuwnwgunn nbwgbln c< ninuth 3500 17500 5
33211130  |Bnibuwnbiphup LDL Uuwnwglnn nbwqkln cL wninuh 8000 40000 5
Dnjtyny fupwunn hnpdnup pwlwlwlwu oe 88000
33210000  |npnpdwl inkiuwn hwywpwdn. wnnih 44000 2
(Shnngnpnyhtp UWwindwdp hwlwdwpdhuutiph fole 56000
33210000  |npnonud hww 56000 1
33200000 |Uqnughpuid nkurlnpy SC |hwn 2390 119500 50
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33140000  |Mjuhnhw whnhgkith npnyuwh hwwpwsn &< hwn 23000 92000 4
Pphﬁéhlnulul]r}[}hum 30 ptuwn/ Brucelloslide-Test ¢ S 300000
33140000 /30 test/ 15000 20
Hiphw-UnpghtipiLhn Z wpquiinl/Urea-arginine.
33140000 |LYO:2 broth o< hwtn 62000 248000 4
33691139 | @pildigh punwiynip 101 t< |hun 5130 2052000 400
33691139 ‘{hﬁlpnhmppqp hwnwbynie 50% 1*101 o< hwwn 12790 767400 60
Bhpphlingkith npntwh wkun- hwywpwéniStart 4 e 68000
33210000 |FIBRINOGEN-PREST 480 tests (Stago) hwn 34,000 2
LtnuwuwnhG Cl Mnw, wbuwn-
hwlwpwéniStart 4 t< 65000
33210000 |Neoplastin Ci plus, 300 tests (Stago) hwwn 13,000 5
ASSU wfinnuwnn npn0wl hwwpwéniStart 4 o< 22000
33210000 |PTT a 1200 tests (Stago) hwwn 22000 1
@pndpht dwiwlwly nbuwn- hwwpwdniStart 4 oc 52000
33210000 [STA Thrombin 240 Tests (Stago) hwuwn 26000 2
‘ i Uni Calibrator 6x1ml o< 59450
33210000 |(Stago)Start 4 wlwhqwwnph hwdwp hwwn 59450 1
HUntunpn| htinndy, 2 vwiwpnuil, 12x2x1 4] Coag oC 118900
33210000 |Control .Start 4 wliwjhquunnph hwdwp hwn 118900 1
33210000 |Uwippan |nibnyp e nnuh 12000 24000 5
33210000 |Quuihs |nidnyp oL wnuh 89000 178000 .
33210000 |PUkwpny bjkywnpnihn winnmghy td hwn 81000 81000 i
Eiltlwnpnn Ne$bpbuu t< hwun 121000 242000 2
33210000 (Glnnnny bbn
ElYwpnn bwinphnud < hwwn 147000 294000 2
33210000 (Bl b h
El5Ywpnn &< hwun 171000 342000 2
33210000
GYywnpnn Yuihnd < hwwn 92000 184000 2
33210000 { u nn u I
Fitlwpnn Ywghnud t<L hwwn 93000 186000 2
33210000 |EHANNN Guigh
Luwuwnphnuwh bibyinpn nu nubp 1254 4 hwn 16000 32000 2
33210000 | Phnudh Eifilnpnnh Yntnhghntin 1254
33210000 |STA CaCL2 , 24x15 W}, Start 4 wGwihquunph hwdwn c< hwn 42030 2050 1
STA OWREN KOLLER, 24x15 1iy:Start 4 oC 47150
33210000 |wlwihquunnph hwiwp hwwun 47150 1
FINNTIPS 2,50ML (X100) Start 4 wGwihquunph o< 241900
33210000 |hwdwp hwun 241900 1
33210000 |Flacon 1850 balls Start 4 w(unhquunnph hwifwp o< hwwn 75850 151700 2
33210000 |Barrettes cuvettes 150X4 Start 4 wwihquinnph hwdwp t< hwun 72780 218340 3
cobas c111 R i}
bibomph o< 70000
33211140 |ninnuih npnz0wl phiup hw]upudn hwn 35000 2
cobas ¢111 g i}
bikeniph t¢ 50000
33211140  |punhwbnip npn2dwl phup hwwpwsny hwwn 25000 2
cobas ¢c111 unjkunbphih B¢ 1R 000
33211130 |npoodwl nbuwn hwjwpwdnL hww 24000 2
cobas ¢111 S |
cobasc nhqihgkphun o¢ 20000
33210000 |npnguwil inkun hwyjwpwdny hwwn 20000 1
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bas c¢111 HDL duh
N PR &< 80000
33210000  |tnkun hwjupwdnt hwwn 40000 2
{ cobas ¢111 LDL Ul
1 Kiip PRnzt < 126000
33210000 fwnbuut hwjwpudm hwwn 63000 2
{ Cobas c111 Upkunnhihh 9! N
33210000 PPNzl phup hudwpudm hwtn 28000 3
! [cobasciti Sninqu 2 e
33211120 |nnn2dwil phup hurjwpudn, hwin 20000 5
i |cobas c111 Uhquitynip
& ALk < 32000
33211150 |nnn20wt pbup hurupusn: hwn 16000 2
| cobas c111 UjwGha
33210000 |WihGnnpwlubbpwqup npn2dwipbuun- cd hwn 14000 R 2
cobas c111 quudiw-
‘ t< 12000
33210000 _|qununwith) wpwhudkpuqu npnpsuws pEup hwn 12000 1
Cobas c111 HbA1c
(o1 4 12400
33210000  [NPN20w phiup huwpwsnt hwtn 124000 y 1
Cobas c111 it
| | ippaah o< 28000
33210090 [hhtwqu npnytwh phup hujwpudm hwin 28000 1
. |coBas c111 LE2 npndw phiup
y i c< 10
33210000 [hurduipwdnm hwn 11000 i 1
‘ cobas c111 2y hiy - .
33210000 ibnufpulmulqm npndwb pEUR hudwpwsn, hwun 17000 1
'\ |cobas c111 Uuyywpunun
: -l c< 28000
33210000 JwahGninpwiiubbipwquh npnpswbptuin- huwtn 14000 2
111 Ud
} cobas ¢ hiuqu ¢ 72000
33210000 |punhwlinip npndwt phup huwijwpwsn hwn 36000 2
bas c111 Ujpnidhiy
S i ol < 26000
33210000 _ |punhwiinip npnpdiwt phup hwjupudny hwwn 26000 1
obas ¢111 Cunhwiy
o i G 50000
33210000 |uwhniwlnigh npnatiwh phup hunjuipudny huwin 25000 2
cobas c111 CRP ¢ 200000
33210000 |pwitiwiljuh npngdwt phiup hudupubn: "hwwn 100000 2
cobas ¢111 CFAS ¢ 37000
33210000 _|YWihppwnnp' phophuhulut wlwihqitkph hwdwp hwwn 37000 1
cobas c111 CFAS HbA1c > 62000
33210000 _|Ywihppuwinnn® phophuhuljwt wbwihqitph hwdwp hwn 62000 1
cobas ¢111 CFAS protein ¢ 130000
33210000 _|Ywihppwinnp® phnphuhulut wbunhqubph huidwn hwin 130000 1
cobas ¢111 CFAS Lipid L e ﬁ
Eazlooo{o Luithpnunnp' phnphuhurlyut whwihqubph hwdwp hwn 19000 1
cobas ¢111 llnhmpn]_ lj1ht
‘ < 161000
33210000 |sku uUnijunp 1 P hwn 161000 1
cobas c111 l.lnhmpn[ §iht
“ c< 161000
33210000 |3k Unijunh 2 hwuwn 161000 1
b 111 Ci r
33210000 | °002° © eane < |humn 18000 4000 3
[Jwgnn hbnniy hhbught pinyph Ynpuu U111 ¢ 18000
33210000 |wiliwihquitnnph husdwn hwun 18000 1
Activator for Cobas ¢111 9x12 ml Unpuiu htunkgpu < 39000
3210000 | Unpwu U111 wlwhquunnpukpp hudwp hwn 39000 1
ISE Dbproteinizer:qnpmu c111 wbwihquunnph
3210000 |hunfup &< hwn 9000 27000 .
anm}; Ut11 wﬁw[hqwmnnp hwiwn
3210000 |NACI 9% Diluent & huuwn 17000 17000 1
hhl[nﬂiqmghnq nhwqkbn:Ynpwu U111 ¢ 41000
3210000 |wlwhquinnph huwiwn husn 41000 1
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cobas ¢111 (Faulyghni
33210000  |ynuEwnttiph hujwpusnt 8 i 63000 222000
33210000 c‘:obas';“ c111 cobas sample cup s hwwn 56000 S
Al Cobas e 411 Elecsys 2010 EjEjupu
i ;! }‘\hh]n]pnl:u]hmhqnumhpnh—umb‘pmm pwiwlwywa < 88000
332106{)0 npidws wbun-hwywpwént hwtn 88000
. Cobasie 411 Elecsys 2010 Eikjuhu
332106{)0 i ) pnltulbulhr}numhpnh -unijpwn Jughppunnp G hwn 29000 29000
| Cobas e 411 Elecsys 2010 Ekyuhu v T
33210000 |Skutnnunbpnt pwlwlwlwdh npndwh whuwn- hwtn 82000
‘ Cobas¢e 411 Elecsys 2010 Ejkjuhu o T
33210000  [Skutnuwnbpnb Yuhppwinnp huwtn 29000
Cobas'e 411 Elecsys 2010 Ekljuhu
.‘anbunLL fupwlnn hnpdnGh pwGwywlwa npn20wG 74 58000
33210000 |unbuwn-hwywpwént hwn 58000
Cobas e 411 Elecsys 2010 EiYuhu
33210000 | dnitiniy fupwlinn hnpdnG Yuyhppwiinnp o hwtn 34000 s
Cobas e 411 Elecsys 2010 Eiijuhu
. [wpopulnht hnpdnGh pwlwlwlwG npnyswa < 74000
33210000  |inbuwn-hwdwpwént hwn 74000
| Cobas € 411 Elecsys 2010 EiEjupu ¢ 34000
33210000 |wpnjulnhl juithppuitnnp hwuw 34000
! Cobas e 411 Elecsys 2010 Eikljuhu o 77000
33210000 _{tunphnifiply gnGunnunpnwhGh pwiwlwlw hwtn 77000
Cobas e 411 Elecsys 2010 Ejkjuphu - 29000
33210000 thnhnﬁhH qniwnnwnpnwhGh Yuihppunnp hwn 29000
Cobas e 411 Elecsys 2010 Elkhupu
Sngunwqudnuh Ghwwndwdp G hwhwdwndhGhbph < 97000
33210000 | pwlwlwyw( npnptwG phuwn- -hwywpwént hwun 97000
Cobas e 411 Elecsys 2010 Ejklupu e 25000
33210000 |wpkuhlninnpng Snpunwwqinu IgG hwn 75000
Cobas e 411 Elecsys 2010 Eljupu e 142000
33210000  [8hwndbquindhpniup Ghwindwip G hwn 142000
Cobas e 411 Elecsys 2010 Ejjuhu ¢ 71000
33210000 _[wpkuhyniwnpn) 8huindbquindhpniu IgG hwn 71000
Cobas e 411 Elecsys 2010 Eikhupu ¢ 102000
33210000 | Innunwn uwbighdhy hwljwghbh pwlwywlwa hwn 102000
Cobas e 411 Elecsys 2010 Ejkljuhu ¢ 34000
33210000 _ | Mpnuwnwwn uwbighdhly hwlwgbiGh Ywihppunnnp hwin 34000
Cobas.e 411 Elecsys 2010 Eibyupu . 800
33210000 |wqwwn phpopuhlh pwiwlwywh npnpdwd phiuwn- 5 hwwn 58000 58000
Cobas e 411 Elecsys 2010 E1EYuhu
‘ t< 34000
33210000 [wquwn phpnpuhCh Yuihppunnnp hwn 34000
Cobas e 411 Elecsys 2010 Ejkluhu ¢ 58000
33210000 _|LntnbihGwglnn hnpiinGh pwGwlwlws npnodwd hwn 52000
Cobas e 411 Elecsys 2010 Eijuhu ¢ 34000
33210000  |LnunbihGwglinn hnpdinGh Yw hppwnnp huwtn 34000
Cobas e 411 Elecsys 2010 EiElupu
33210000  |Bhptninpnw hnpunGh pwwlwlwa npnytwG - hwwn 58000 =
Cobas e 411 Elecsys 2010 Eiluhu
33210000 _|@hptinunnnw hnpdnGh Yuihppwinnp 9 hwn 34000 34000
Cobas e 411 Elecsys 2010 Ejkluhu - 136000
33210000 _|dywpwlltiph pwngltinh CA 125 whwhqtth hwn 136000
Cobas e 411 Elecsys 2010 Eikluhu ¢ 29000
33210000 Aqwnwﬁﬂbnh pwngltinh CA 125 wlwnhqkG hwn 29000
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r Cobas e 411 Elecsys 2010 Elklupu f
wlwphpnhn, whpnpuhnwah hwlwdwndhaGtnh t< 103000
33210000 [PWlwlwhwh npnpdwh pGun-hwiwpwont hidin 103000 1
Cobas e 411 Elecsys 2010 Etkljupu
wlwghnnhn whnnpuhnwan huluidwinahGGtph < 29000
33210000 _|{uthpppuang huin 29000 1
| |Cobas e 411 Elecsys 2010 Eihuhu t¢
33210000 _|ShntinginpntihGh tjuntutp husbuswnshGabn huin 103000| 103000 :
i Cobas e 411 Elecsys 2010 Eikyuhu Al >
33210000 _|ShntndinpnuGh bijunnuut hulwswnohGabn huin 29000 COs 1
|| |Cobas e 411 Elecsys 2010 Eikuhu zd T
33210000  |@hnopuhlh pwlwlwiwe 20wl phuwn- hwn 63000 1
| |Cobas e 411 Elecsys 2010 Eikyuhu 2 o
33210000 _|@hnopuhlh yuyhppurnng hwtn 34000 1
' |Cobas e 411 Elecsys 2010 EikLupu ¢ 27000
33210000 Ypkuhntunpn) nuhbpuug huitn 27000 1
Cobas e 411 Elecsys 2010 Blkuhu oc 50000
33210000 tuhyntwnpn nipnigpm bl vwphk hwwn 50000 1
up [\ Dipnigpuy pYtp 00
Cobas e 411 Elecsys 2010 Eitluhu
33210000 |wuwunnp uhulyha te hwtn 1§QQL %0 1
Cobas e 411 Elecsys 2010 Ejkuhu '
33210000 |ufiuiny | c< hwwn 6000 ‘ 12000 2
Cobas € 411 Elecsys 2010 Eikluhu Lniéhg
33210000 hinijunp &5 hwun 42000 2000 1
Cobas e 411 Elecsys 2010 Eikljupu o¢ ' 18000
33210000  [Lnihs niihykpuuy hwwn 18000 L 1
Cobas e 411 Elecsys 2010 Eikluhu ISE
33210000  |uhulyhG 5 hwwn 25000 22009 1
Cobas e 411 Elecsys 2010 Eikjuhu '
33210000 |uhlnnyyniybinttn e hwun SGOO_OL I 2|
Cobas e 411 Elecsys 2010 Ethuhu I
33210000 [swjpwnhpGtn e< hwn 58@9[’7'_ 116000 2
Cobas e 411 Elecsys 2010 EjkYupu
33210000  |Ythluby 28 hwn 31@"@_’] o 3
Cobas e 411 Elecsys 2010 Etklupu
33210000  |Tpnuby % | b 2'@30} 81000 3
Cobas e 411 Elecsys 2010 Eikyupu '
33210000 _|“iPRubYnlnpng Thyro Ab-h 0 hwn 116077 L HGoED 1
Cobas e 411 Elecsys 2010 Etkljupu oc | 93000
33210000  |wjkuhlninnpng Juphw hwtn 97nn I 1
Cobas e 411 Elecsys 2010 Eikyuhu FT3
| wqun uphnyphpabihtih pubwlulw npnydwt t< 585! / 58650 1
332100:‘00 nkuwn hujwpwdng hwtn I
Cobas € 411 Elecsys 2010 Eikyuhu FT3 '
u1 m unhynnphpnihtih Puwlwlwliwb npnodwi < 345G0 f 34500 1
33210000  [Ywihppunanp hwn
- 0
’;3141211 XP-300 Uh]_ullll].] 10 L ol hwn 24,0t i 144000 6
P- UG
33141211 XP-300 Umpndmmnlm]th WH o< B 150, 150000 1
33141011 |XP-300 Ut ht < | o 40_%i | 40000 1
24111180 Opwshu e 2 58+ | 1168000 2000
2, Upluwinwupbn ! 7490000.0
79810000 Sujwgnnipyniu (pdolwlywlwl dlwpnptn) < __I 7000000
15331100 LIbT..I.Ln['II"IULu[.JLU'U obinnigdwl hwdwlwpgh Uu | 490000
wbnwnpiwy woluwwnwlplbip .
. Ownwjnipinil N 36338200
55211100 [Pudlwh qugh dwnwlwpwpnid PLUC I 5900000
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65311100 _|Ejblnpwkubpghuh dwunwlwpwpnud PLUL 14000000
64211000 |Sppudwd hbnwiunuwljwy PLUC 448200
32412110 _ |Punbpbbnwiht Guwh npwdwnpnud PLUL 288000
65111000 [hudtyni 9ph dwinwlwpuwnnid PLUL 3100000
64110000 | Pnuwnwihl Swnwjnyajnil PLUL 8000
66111200 [Pwuluihu Swnwynipjniutibin PLUL 5000
98300000 |<hghtuhl hwlwhwdwswpwlwihu Swnwjnipiniiu{ FOUL 360000
98300000 [Hinwuhqughw PLUL 264000
90512000 fUnpuhwlnip)ul Swnuwynipiniu PLUL 480000
22213000 [Stinblyuiindwlwt dwnwynipynitibp PLUC . 1500000
. SOOI GSWINT MGMIUAMGUUERfT T i
A q_}-u;,ijh'u wwwhnynwdubiph dowynu L ‘
72514300 |uwuwduplinu pOUC 676000
{0 [Swdwliingswht uwnpBph wwhwywidwi @
50311120 _|ybpuitinpnguwl dwnuynyejnititibn POUL 324000
i Spwluynpinwht unonglbinh inGRUURGWhwWn
50111130 uwwuwplynud Uu 490000
UwnndbpEuwLEnpfh wwpwwnhp '
66514130 wwwhnywgpnuenit PLUL .J 335000
|
80511000 |dbpuwwinpwundwt b nunigdwl dwnwjneniu |RLUL f 1000000
98341140  |Chupbiph wwhuywudwl Swnwynipinilbn PLUL 4100000
Clnwdbup 168883419.5




